Differential and Integral Calculus (MATH-205)

Final Exam/Sem II (2022-23) Time Allowed: 3 Hours

Date: Tuesday, February 21, 2023 Maximum Marks: 40

Note: Solve all 9 questions and give DETAILED solutions. Make sure your solutions are clearly written and contain all necessary details.

Question 1: (5°) Show that the following infinite series converges and find its sum.

$$\sum_{n=0}^{\infty} \left(\frac{9}{(3n+1)(3n+4)} - \frac{2^n}{3^{n+1}} \right)$$

Question 2: (5°) Find a power series representation of $f(x) = \ln(8 + x^3)$. Specify the radius and interval of convergence of the series.

Question 3: (3°) A constant force of magnitude 4 lb has the same direction as the vector $\mathbf{a} = \hat{i} + \hat{j} + \hat{k}$. If distance is measured in feet, find the work done if the point of application moves along the y-axis from (0, 2, 0) to (0, -1, 0). Find the component of the force along the direction of displacement and interpret why the work done is negative.

Question 4: (4°) Let the lines l_1 and l_2 have the respective parametrizations given by

$$l_1: x = 4 + 5t, y = 3 + 2t, z = 3t, t \in \mathbb{R}$$

$$l_2: x = -5 + 2v, y = 4 - v, z = 1, v \in \mathbb{R}$$

Determine whether l_1 and l_2 are parallel, intersecting, or skew lines.

Question 5: (5°) Find the extrema of $f(x, y, z) = 2x^2 + y^2 + 3z^2$ subject to the constraint 2x - 3y - 4z = 49. Is it a minimum or maximum?

Question 6: (3°) Let w = 2xy, where $x = s^2 + t^2$ and $y = \frac{s}{t}$. Find w_s , w_t and w_{st} . Give your answers in terms of s and t in simplified form.

Question 7: (5°) Let z = f(x, y) be defined implicitly as a function of x and y by the equation

 $x^2 - 2y^2 - z^2 = 0,$

Find the directional derivative of f at $(-\frac{3}{4},0)$ in the direction of maximum increase in f.

Question 8: (5°) Evaluate the double integral $\iint_R (x^2 + y^2) dA$, where R is the region bounded between the graphs of x - y + 1 = 0 and x + y + 1 = 0 and x = 0. Sketch the region R.

Question 9: (5°) Find the volume V of the solid that lies under the graph of the equation $z = x^2 + 4$ and over the region R in the xy-plane bounded by the graphs of $x = 4 - y^2$ and x + y = 2. Sketch the region.

--- Good Luck ---

Sol. Q.I.S.

let
$$a_n = \frac{9}{(3n+1)(3n+4)}$$
, $b_n = \frac{2}{3^n} = (\frac{2}{3})^n$, $n > 0$

using PFs, we have

$$a_n = \frac{1}{3} \left[\frac{1}{3n+1} - \frac{1}{3n+4} \right].$$

The nth partial sum of Zan is fiven h

$$S_{n} = \frac{1}{3} \left[\left(1 - \frac{1}{4} \right) + \left(\frac{1}{4} - \frac{1}{4} \right) + \left(\frac{1}{4} - \frac{1}{10} \right) + \cdots + \left(\frac{1}{3n-2} - \frac{1}{3n+1} \right) + \left(\frac{1}{3n+1} - \frac{1}{3n+1} \right) \right]$$

$$\frac{1}{n+\infty} S_n = \frac{1}{3} \frac{1}{n+\infty} \left(1 - \frac{1}{3n+4}\right) = \frac{1}{3}$$

= 2 S 20 is a Convergent sequence and its limiting value is \frac{1}{3}.

=)
$$\frac{3}{2}$$
 $\frac{1}{3}$ \frac

Moveover,
$$\sum_{n=0}^{\infty} b_n = \sum_{n=0}^{\infty} \left(\frac{2}{3}\right)^n$$
 is a G.S. with $N = \frac{2}{3} < 1$. In Moveover, $\sum_{n=0}^{\infty} b_n = \sum_{n=0}^{\infty} \left(\frac{2}{3}\right)^n$ is a G.S. with $N = \frac{2}{3} < 1$. Its sum is $S = \frac{1}{1-\frac{2}{3}}$. Hence it is a Convergent G.S. of its sum is $S = \frac{1}{1-\frac{2}{3}}$.

$$\frac{20}{N=0[\frac{9}{(3n+1)(3n+4)}-\frac{2}{3^{n+1}}]}$$
 converges and its sum is

$$S = \frac{1}{3} - \frac{1}{3} = \frac{1}{3} - 1 = -\frac{2}{3}$$
. (1)

5.12.2 Consider, $\frac{1}{8+x} = \frac{1}{8} \cdot \frac{1}{1+\frac{x}{8}} = \frac{1}{8} \left[1 - \frac{x}{8} + \left(\frac{x}{8} \right)^2 - \left(\frac{x}{8} \right)^3 + \left(\frac{x}{8} \right)^4 - \dots \right] = \frac{1}{8} \sum_{n=0}^{\infty} (-1)^n \left(\frac{x}{8} \right)^n$ $\left(\begin{array}{c} 1 \\ 1 \\ 8 \\ \end{array}\right)$ Integrating 20th sides, we get $ln(8+x) = \frac{1}{8} \cdot \sum_{n=0}^{\infty} (-1)^n \cdot \frac{x^{n+1}}{8^n(n+1)}$ Replacing or with x3, we get $\ln(8+x^3) = \frac{1}{8} \cdot \frac{20}{100} (-1)^n \cdot \frac{3n+3}{2}$ which is the required series representation of the given function $\frac{1}{n+\infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n\to\infty} \left| \frac{(-1)^{n+1} \cdot 3n+6}{2n+6 \cdot (n+2)} \cdot \frac{3n+3}{(-1)^n \cdot 3n+3} \right|$ $=\frac{1}{n+\infty}\frac{1\times1^{3}}{2^{3}}\left(\frac{n+1}{n+2}\right)=\frac{1\times1^{3}}{2^{3}}$ using Ratio setest for absolute convergence, the series will Converge if $\frac{1\times1^3}{3}$ < 1 => -2<×<2. At x=2, then five $\frac{2}{8}$, $\frac{150}{8}$ (-1) $\frac{3}{2}$ $\frac{3}{2}$ (n+1) $\frac{3}{8}$ $\frac{3}{2}$ (n+1) $\frac{3}{8}$ $\frac{3}{2}$ (n+1) is a convergent Alternating series. At X=-2; we have $\frac{1}{8} \cdot \sum_{n=0}^{\infty} \frac{(-1)^n (-2)^n}{2^{3n} \cdot (n+1)} = \sum_{n=0}^{\infty} \frac{1}{n+1} = \sum_{n=0}^{\infty} \frac{1}{n+1}$ which is a divergent shifted harmonic series. = Interval q convergence is (-2,2] 3 vadius q'Convergence is 2.

Sol. Q.3/(3) P + 2 Let F be the force acting in the Livection of a=i+j+k. A unit vector in the direction fa is $\hat{\lambda} = \frac{1}{\sqrt{3}} (\hat{i} + \hat{j} + \hat{k})$. Therefore \hat{F} is fiven by F=42=42(2+j+k). F moves the point of application from A (0,2,0) to B (0,-1,0). The displacement vector is $\frac{3}{d} = AB = [0, -3, 0].$ $-W = F - J = -4\sqrt{3} = -4\sqrt{3} + 1b$ comp $\vec{F} = \vec{F} \cdot \vec{d} = -\frac{4\sqrt{3}}{\sqrt{3}} = -\frac{4}{\sqrt{3}}$ Interpretation of -ive sign: The work done is negative means that the force F is not acting in the same direction the displacement of is taking place. (1/2) Sol. Q.4/(4) The d'vectors of 1, 412 are $\vec{a} = [5, 2, 3]$ $\vec{b} = [2, -1, 0]$ -; \(\frac{5}{2} \frac{7}{-1} \frac{7}{0} = \frac{1}{1} \frac{4}{12} \text{ are not parallel.} \(\frac{1}{0} \) For point of Intersection of 1, 4 12; we proceed as follows. 5t-2V=-9 — (1) 4+5t=-5+2V Hure dist, are wine $\frac{1}{1} = \frac{1}{1} - \frac{1}{1} - \frac{1}{1} - \frac{1}{1} = \frac{1}{1} - \frac{1}{1} = \frac{1}{1} - \frac{1}{1} = \frac{1}$ 3+2t = 4-5 3t = 1using (iii) in (i), $V = \frac{1}{2}(\frac{5}{3} + 9) = \frac{16}{3}$ = The linear System (1), cii) & ciii) has no solution = 1, 91, do not interced.

50l. Q.5/(5) Given $f(x,y,z) = 2x^2 + y^2 + 3z^2 - Ci)$ f(x,y,z) = 2x - 3y + 4z - 49 = 0 - Cii)the extrema points of (i) D.t. (ii) are included among the pts (x, y, 2) determined by the 1st 3 words of the courtisms (xc,4,2,2) of the following system of equations, $x = \frac{1}{2} - ciii)$ 4x = 27 $t_x = \lambda d_x$ リョー多う一つin $2y = -3\lambda$ ty = 2 Jy 天=-是了一(1) 6 = -42 tz = λ θ = 2x-37-42-49=0 27c-3y-47-49=0 g(x,1,2) = 0 using liii), (iv), (v) in (vi), we get $2 \times \frac{\lambda}{2} - 3 \times -\frac{3}{2} \lambda - 4 \times -\frac{2}{3} \lambda - 49 = 0 = 7 \lambda = 6$ (3) $2 \times \frac{\lambda}{2} - 3 \times -\frac{3}{2} \lambda - 4 \times -\frac{2}{3} \lambda - 49 = 0 = 7 \lambda = 6$ (iii)—(W). = x = 3, y = -9, z = -4, $\lambda = 6$ is a solution of (iii)—(W). Herefore, extrema of (1) will be at (3,-9,-4), and extreme value is 7 (3,-9,-4) = 18 +81 +48 = 147.

f(3,-9,-4) = 18 + 81 + 48 = 147.

Any other pt. a on the plane cii) is $(0,0;\frac{49}{4})$, $f(3,-9,-4) = 0 + 0 + 3 \cdot (-\frac{49}{4})^2 = 450.18 > 147.$ (2) $f(0,0,-\frac{49}{4}) = 0 + 0 + 3 \cdot (-\frac{49}{4})^2 = 450.18 > 147.$ (2) f(x,y,z) has a minimum value at (3,-9,-4).

Sol. Q.6/3

Given $W = 2 \times 3$, where $SC = S^2 + t^2$, $3^2 = \frac{S}{t}$. Wx x x xt

using chain rule,

Ws = Wx. Xs + Wy. ys

$$= 2\sqrt[3]{25} + 2\sqrt[3]{2} + t^2/\sqrt{\frac{1}{t}} = \frac{2}{t}(35 + t^2)$$

$$= 2\sqrt[3]{5} + 2\sqrt[3]{5} + t^2/\sqrt{\frac{1}{t}} = \frac{2}{t}(35 + t^2)$$

$$Y = \frac{4^{2} + 3^{2}}{4} + \frac{1}{4} + \frac{1}{4}$$

W Wy S

$$= 2S(t^2-S^2)$$

Diff. ws partially w.r.t. t, we get

Diff.
$$w_s$$
 partially w_s . t_s .

$$= \frac{2}{4^{2}} \left[2 t^{2} - 3 s^{2} + t^{2} \right] = \frac{2}{4^{2}} \left(t^{2} - 3 s^{2} \right)$$

Sol. Q.75 Given
$$F(x,7,2) = x^2 - 2y^2 - 2^2 = 0$$
 — Ci)

·: grad
$$f(x) = t_x i + ty j$$

where
$$f(x,y)=Z_{x}=-\frac{F_{x}}{F_{z}}=-\frac{2x}{-2z}=\frac{2x}{z}$$
; $f_{y}(x)=y=-\frac{F_{y}}{F_{z}}=+\frac{2y}{-2z}=-\frac{2y}{z}$

At
$$4(-\frac{3}{4},0)$$
 $= (-\frac{3}{4})^{2} - 2 \cdot 0 - 2^{2} = 0$ $= (-\frac{3}{4})^{2} = (-\frac{3}{4})^{2} = 2 = -\frac{3}{4}$

$$\frac{1}{4} \left(-\frac{3}{4}, 0 \right) = \frac{-\frac{3}{4}}{-\frac{3}{4}} = 1, \quad \frac{1}{4} \left(-\frac{3}{4}, 0 \right) = 0$$

 $= \frac{1}{4} \operatorname{qrad} \left(\frac{1}{4} \cdot 0 \right) = \frac{1}{2} + 0. \quad \text{i} = \frac{1}{2} \cdot 3$ $= \frac{1}{4} \cdot 3 = \frac{1}{4}$

$$D_{u} = \int_{u}^{2} f(-\frac{3}{4}, 0) = \int_{u}^{2} f(-\frac{3}{4}, 0) \cdot \hat{u} = 1$$

5.1. Q. 8 The region R is sketched in fig. It is an Rx region given by Rx = { (x,y): =1 < x < 0, -x-1 < y < x+1} -) (xt+3). dA $\frac{1}{x=0} \qquad \qquad x=-x-1$ $= \int_{-1}^{\infty} \int_{-x-1}^{x+1} (x^2 + y^2) dy dy dx$ $= \int_{-1}^{0} \left| xc^{2}y + \frac{y^{3}}{3} \right|_{-x-1}^{x+1} dx = \int_{-1}^{0} \left[x^{2}(x+1) + \left(\frac{x+1}{3}\right)^{3} + x^{2}(x+1) + \left(\frac{x+1}{3}\right)^{3} \right] dx$ $=2.\int_{-1}^{2} \left[sc^{2}(sc+1) + \frac{(sc+1)^{3}}{3} \right] dx = 2 \left[\frac{sc^{4}}{4} + \frac{x^{3}}{3} + \frac{(sc+1)^{4}}{12} \right]^{3}$ $=2 \cdot \left[0+0+\frac{1}{12}-\frac{1}{4}+\frac{1}{3}\right]=2 \times \frac{1-3+\frac{4}{3}}{12}=\frac{1}{3}$ Sol. Q,9 The region R is shown in tij. Ry

It is an Ry-region.

(0,2) (0,2) $3e = 4-3^2$ Left B'Lam: &x=2-y Right B'Lan : xc = 4-7 $\frac{4}{(0,-2)}$ (4,0) (2,-2) (2,-2) (2,-2) (3,-1)Limits of 2 : -1 < y < 2 $y = \int_{0}^{2} \int_{0}^{4-3} (x^{2}+4) \cdot dx \cdot dy$ $= \int_{-1}^{2} \left(\frac{x^{3}}{3} + 4x \right)^{3} \left(\frac{4}{3} + 4 \right)^{2} dy = \int_{-1}^{2} \left[\left(\frac{4 - y^{2}}{3} \right)^{3} + 4 \left(4 - y^{2} \right) - \left(\frac{2 - y^{3}}{3} \right)^{3} - 4 \left(2 - y^{3} \right) \right] dy$ $= \int_{-1}^{2} \frac{1}{3} (64 - 36 - 483 + 1234) dy + 4 | 43 - \frac{3}{3}|_{-1}^{2} + \frac{1}{3} \frac{(2 - 3)^{4}}{4} |_{-1}^{2} + \frac{1}{3} (23 - \frac{3}{2})$ $= \int_{-1}^{2} \frac{1}{3} (643 - \frac{3}{4} - 163 + 123 + \frac{3}{5}) dy + 4 | 43 - \frac{3}{3}|_{-1}^{2} + \frac{1}{3} \frac{(2 - 3)^{4}}{4} |_{-1}^{2} + \frac{1}{3} \frac{(2 -$